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= 14,550
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01 2L Y] 1,000 940 60
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O NHESE HYeLSALS 177,140
— SNMNSRIYYS 44,285,000 * 4= 177,140
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s 180,000
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AR ESAA AL (=) 10,000 10,000 0
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101 12 bl 5,000 5,000 0
= 2,500
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02 A2AtFNMNE X 15,000 70,000 255,000
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402 212t X 20| & 40,000 0 40,000
01 QIZtXtEa8 X 40,000 0 40,000
O U= EMHF 24 AIEAIY
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B SMARHEH 29 219,860 192,600 27,260
101 2124 d| 114,056 92,640 21,416
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O =4tHdPHEH 22X 96,960
A R==] 70,0008 * 3¥ x 2602 54,600
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— X< 70,000& * 3¥ x 15 3,150
— Y& FItH| 70,000& *21 *60%*3H *23| 5,292
O A3IB2Eg & 4,255
— ZVALBEZ 98,899,000& * 2.9% 2,869
- 1828z 98,899, 000& *0.9% 891
— MNMHEEZ 98,899,000& * 0.5% 495
O =043 98,899, 000& *4.5% 4,451
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2,000,000 2,000
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— NMAIPHAEH AFF X A= H|
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O A& &EHl S Xl 5,000,000& 5,000
202 04| 2,000 4,700 N2,700
01 2L Y] 2,000 4,700 N2,700
O =4atdRHEH 89 0l 2,000,000& 2,000
206 T2 HI 32,000 52,000 A 20,000
01 & bl 32,000 52,000 A 20,000
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— SN &N 50,000& *60kg 3,000
— 0lFekX & 30,000& *100kg 3,000
— OUs) 2m 20,000& *100kg 2,000
O oY X0 Azl 18,000
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201 Let24d] 1,952 2,298 A 346
01 At 22/l 1,952 2,298 A 346
O L=t 692,000 692
O LAY HRFX S
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O tttt&eldl s 5,000,000& = 14 5,000
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401 Al HI L 2 0HHI 108,000 0 108,000
01 Al& H| 108,000 0 108,000
O 8% JIE2E &AXZ2A 8,000,000& 8,000
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101 2124 H] 16,017 16,017 0
04 JI2ZtHIZ22NEE S 16,017 16,017 0
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O ZELg 012s BHOlY AZA+g
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